
Ph: 09555108888,  09555208888 1

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

61. (A) nwljk ml Hkkx dks n'kkZrk gS ftl ij iz;kl ykxw gksrk
gSA

62. (A) ftl rjg] E G I K F I L O
+1
+2
+3
+4

mlh rjg] F H J L G J M P
+1
+2
+3
+4

63. (C) a b b/ a a b/ a b b/ a a b/ a b b/ a

64. (D) 10 × 2  10 – 2 = 8  
8

2
 = 4

14 × 4  14 – 4 = 10  
10

2
 = 5

24 × 12  24 – 12 = 12  
12

2
 = 6

65. (B) ekuk Z = 2, Y = 3, ....., N = 14, ....., B = 26,

A = 27 rks]
ZIP = (Z + I + P) × 6
= (2 + 19 + 12) × 6 = 33 × 6 = 198

vr%] VIP = (V + I + P) × 6

= (6 + 19 +12) × 6 = 37 × 6 = 222
66. (A) T R O K F Z S

–2 –3 –4 –5 –6 –7

67. (C)

4 2

+1

+1

+1

+1

+1

+1

+1

+1

5 3 6 4 7 5 8 6

68. (A) Li"V rkSj ij] izR;sd iafDr esa la[;k dk ;ksx = 17

blfy,] yqIr la[;k = 17 – (4 + 7) = 6

69. (A)
70. (B) 4

71. (C) ekuk ekrk th dh orZeku vk;q = x o"kZ
 iq=k dh orZeku vk;q = (30 – x) o"kZ

6 o"kZ igys ekrk th dh vk;q = (x – 6) o"kZ
rFkk iq=k dh vk;q = 30 – x – 6 = 24 – x o"kZ

iz'ukuqlkj]
(x – 6) – (24 – x) = 18

 x – 6 – 24 + x = 18
 2x – 30 = 18
 2x = 18 + 30
 2x = 48
 x = 24

 6 o"kZ igys ekrk th dh vk;q
= 24 – 6 = 18 o"kZ

HARYANA MOCK TEST – 84 (SOLUTION)

72. (C) ` 1 ds iQkWeZ esa cnyus ij
4 : 6 : 9
  
4x 6x 9x
×5 ×2 ×1

20x 12x 9x

vc] dqy = ` 410

[20x + 12x + 9x] = 410
x = 10

 ` 2 ds flDdksa dh la[;k = 12 × 10 = 120

 ` 2 ds flDdksa dh la[;k = 
120

2
 = 60

73. (B) ekuk O;fDr;ksa dh okLrfod la[;k = x

rks] 1 O;fDr 60x fnuksa esa dk;Z dks iwjk djsxkA
nwljs fLFkfr esa] 1 O;fDr (x + 8) 50 fnuksa esa dk;Z dks
iwjk djsxkA
vc] 60x = 50(x + 8)

 x = 
400

10
 = 40 O;fDr

74. (B) ykHk % = 
–

=kfq V
lgh eku =kfq V

 × 100

= 
50

950
 × 100 = 

5
5 %

19
 = 5.26%

75. (B) 3M + 4C = 
756

7

3M + 4C = ` 108 izfr fnu ...(i)

11M + 13C = 
3008

8

11M + 13C = ` 376 ...(ii)

lehdj.k (i) rFkk (ii) ls]

11× ×113M + 4C = 108

3× ×311M + 13C = 376
Equal—

33M + 44C = 1188
33M + 39C = 1128
–       –        –
             5C = 60

C =12

M = 20

ekuk vHkh"V le; = x, rks
x (7 × 20 + 9 × 12) = 2480

x = 
2480

248
 = 10 fnu
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76. (C) dqy vk; = 7800

A dk 10% = B dk 15% = C dk 20%

;fn 5% = 1

rks] 2A = 3B = 4C

L.C.M = 12

A : B : C

12

2
:

12

3
:

12

4
A : B : C = 6 : 4 : 3 = dqy = 13

B dh vk; = 
4

13
 × 7800 = ` 2400

77. (D) S.P. = ` 570
L% = 5%

C.P. = 
100

95
 × 570 = 660

P = 5%

S.P. = 
100 P %

100


 × C.P.

= 
105

100
 × 600 = ` 630

78. (B) 52, 13 dk xq.kt gSA vr% 45 dks 13 foHkkftr djus
ij 'ks"kiQy 6 izkIr gksrk gSA
 vHkh"V 'ks"kiQy = 6

79. (B) ekuk izFke o"kZ ewy/u P
1
 rFkk nwljs o"kZ dk P

2
 gSA

 16224 = P
1

4
1

100

 
 

 

HARAYANA CONSTABLE  MOCK TEST – 84 (ANSWER KEY)

1. (B)
2. (B)
3. (C)
4. (B)
5. (B)
6. (C)
7. (D)
8. (A)
9. (C)
10. (B)

11. (C)
12. (A)
13. (A)
14. (B)
15. (A)
16. (C)
17. (B)
18. (B)
19. (C)
20. (C)

21. (D)
22. (C)
23. (D)
24. (A)
25. (B)
26. (C)
27. (A)
28. (A)
29. (D)
30. (A)

31. (C)
32. (C)
33. (A)
34. (C)
35. (B)
36. (A)
37. (C)
38. (B)
39. (A)
40. (C)

41. (A)
42. (A)
43. (D)
44. (A)
45. (A)
46. (A)
47. (D)
48. (C)
49. (B)
50. (B)

51. (A)
52. (B)
53. (B)
54. (D)
55. (A)
56. (D)
57. (B)
58. (C)
59. (C)
60. (B)

61. (A)
62. (A)
63. (C)
64. (D)
65. (B)
66. (A)
67. (C)
68. (A)
69. (A)
70. (B)

71. (C)
72. (C)
73. (B)
74. (B)
75. (B)
76. (C)
77. (D)
78. (B)
79. (B)
80. (D)

81. (C)
82. (D)
83. (A)
84. (C)
85. (D)
86. (B)
87. (D)
88. (D)
89. (C)
90. (B)

91. (B)
92. (C)
93. (C)
94. (A)
95. (C)
96. (B)
97. (C)
98. (A)
99. (B)
100. (C)

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.

Join the group and you may also share your suggestions and experience of Sunday Mock Test.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

 16224 = P
1

1
1

25

 
 

 
 = 

126P

25

 P
1
 = 

16224 25

26


 = ` 15600

rks] 16224 = P
2

2
4

1
100

 
 

 

 16224 = P
2

2
26

25

 
 
 

 = 
2676P

625

 P
2
 = 

16224 625

676


 = ` 15000

 LdwVj dk uxn ewY;
= ` (16224 + 15600 + 15000)
= ` 46824

80. (D) ekuk fodsV dh vHkh"V la[;k = x

iz'ukuqlkj]
12.4 × x + 26 = (x + 5) (12.4 – 0.4)

= (x + 5) × 12
 12.4x + 26 = 12x + 60
 12.4x – 12x = 60 – 26
 0.4x = 34

 x = 
34

0.4
 = 

340

4
 = 85

91. (B) Remove 'Hardly' as 'not' and 'hardly'
together make the sentence
superfluous.

92. (C) Replace 'little water' by 'a little water',
as little means equivalent to nothing.
'A little' means at least 'some'


